
I .E.S-(ORJ) 2()02 I or 15 

ELECTRONICS & TELECOMMUNICATION ENGINEERING 

I. 

PAPER-II 
Matcll List I (Pole-zero plot of linear 
control system) with li~t II (Responses of 
the S)'Siem) and select ~1e correct answer 
Ltst l 
A. 

B. 

c. 

D. 

~_:__ --~ 
~· 

Ltst II 
I 

2. 

3. 

4. 

3 

b 

c~ . ./\ · .t 
Y\ 

' ) t 

A B c 
.; 3 
4 3 2 

0 
2 
I 

2 

3. 

-1. 

5. 

c. 3 4 2 
d. 3 4 2 
The Nyquist plot of 

Gt:).HC:) • ( ) 
s·(l-0.5$). l+.v 

10 

.a. will stan ((I) ="') m the first quadrant 
arid wtll terminrue (ro = 0) in U1e 
second quadrant 

b. will stan (co = oo) in the fourth 
quadrant and \\i ll terminate (w = !l) in 
the second quadrant. 

c. will start (w = r.o ) 10 tbe second 
quadrrull and \\111 temlinate (co = 0) i11 
the U>i rd quadrant 

d. wlll start (ro = oo) in the fifV( q uadrru1t 
and \\ill terminate (ro = 0) in the fourUt 
quadrant 

The feedback amplifier shown in the 
figure bel_ow 

r:-'IIW...;----, 

R, 

... 0 c =r: . 
a is stable for all values of R and C 
b. is stable only for R1R" = R3 

c. is swble only for R1C = R,R1 
d, isstable ifR , / R2 = CI R, 
Consider tbe foiiO\dng statements : 
N•chol's char1 gi"es mformation about 
t. closed loop frequency response 
2. the value of the pea~ magmtude of the 

closed loop frequency response M,. 
3. the frequency at whtch M1• occurs 
Whicb of the above slaiemcms are corrcc~! 
3 2 ru1d J 
I). I and 2 
c. 1 and 3 
d. I. 2 and 3 
Which of following is ~1e Nvquist diagram 
for the open loop function 

G(.I).H(.v ) -
5
( ) '/ 

s (l +IU<) I + (I, (I t$ 
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•• .. 

b. 

r .... 
- 1 \ 

c. 

d 

Con.•idcr the tollo\\·1ng statements 
ossocioJCd with ond gain margi•1s : 
I. 'I hey are a measur~ of closeness 11f the 

PQiur plot the - I j() puwl 
2. for a non-minimum phaSe! tn be st.;tble 

it must have positive phase >~ud grun 
margins 

3. For a minimum phase system to be 
stnblc. both ~.e margin, •t•ust be 
positive 

Which of ll1c llbovc s tatements 1s arc 
COITC:Cl-t',) 

a 2:wdJ 
b. lnnd3 
c. l and 2 
d. 1 alone 
Consider the folio\\ 111g sunemenll! 
regarding a phaS(.~Ieud conlf'Oil«<ltOr . 
I . lr increases the baudwidtl• of thu 

~)'StCnJ 

2. It helps iu reducing the steady Sl!11i: 
error due f t> rump input. 

3. It reduces ll>e overshnot due to step 
input 

Whtch uf the above smre111Cuts islaro 
com:ol1 
a. I nud 2 
b. 1 and 3 
c. 2 :md .l 
d. I nlonc 

8 . 
~of I.S 

Consider tho tollowiug perlom~:lncc 
ehur~1oteristilis 
I . Reduced velocity constant lor a given 

reJdtiVc .-tubilit~ 
2, Reduced gain cross-o~er frequency 
3. Reduced bandwidtJa 
-1. Reduced resonance peak of The system 
Whic.h of those perionnancc 
chnrnoteristics ore ochieved with the 
rha$c· lug compensation? 
s. I und 2 
h. I and 3 
o. 2. 3 and~ 
d. 1. 2,.1nod4 

9 . Tlu• constant N loc.i represented by tl1e 
equutiou x1

- x +' -0 where 
x = Rc I O(jco) l nnu y = I ni l G{j~t) I 

is lor Lbc value o[ pbnse angle equal 
n. ~; · 

b. o0 

e. t 45"' 
d. + 9() 

I 0. Mulclt List I with li.'' II ruod sclett d1c 
corrocl answer : 
List! (fvpe ol' controller) 
A, Pncumnti.c contmllcr 
Fl. Hydraulic oomrnllcr 
C Elecrmnic C{lutroller 
Li>t II (Operation) 
I . F le,xiblc opera lion 
2. lligh torque high·spccd operation 
3. l'irc und ex.plostou rroof operutiou 

A B C 
o. I 3 2 
b. I 1 .l 
c. 3 2 
d 3 2 

I l. ~~ti<;h of ll1c lollowio!! arc lbc atlvmllagcs 
of FM over AM 
I . Beller noise immunity is provided 
2. Lower bandv.idth is required 
J T11e lrnnsmincd PO" cr is m~>rc useful 
4. Less m,ldulaling p<;wer ts reqaured 
Selo<;l tlto ~JTOCI answor using tho eodos 
given below; 
a. t 2 and 1 
b. 2. 3 and 4 
c. 2 and4 
d. I. 3 and .J 

12. Mat.th Jjsl witJalisl JJ and sc.lccl tbe cor"'~' 
llU!'Wer 
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13. 

14 

15. 

16. 

17. 

l.istl 
~ Teievisioo 
B. Radio 
\. R~dar 
D. D~r~ communication 
ListD 
1. Eitbct· AM or FM used 
1. Both )u\.f and FM ~re used 
J PC'.M is used 
4. Digital sy&tern 

A B 
a. "" J 
b. 2 

c D 
2 
~· 

~ 4 3 1 
d. 2 J 1 4 
Which of the followmg pu hte modulations 
i~ annlog1 
a. PCM 
b. DilYer.,otiul PCM 
c. PWM 
d. Dollll 
ln osymchronous 1'DIVI. for n s ignal 
sources. e•ch frame conl.llins m slots. 
where m ~~ lL~Wllly 
'~ Jess lltun 11 

b. 2n 
c:~ n 
<~ greatet than 2n 
In free spoce line of ~ighl propogntion 
~ase. the transmission loss.,; between 
trnnsmlttcr -nnd Cl:coivur in~rc:~sc \villa 
frequency (f) • • 
• . f 
b. ,. 
c. r< 

..Ill cl 1 

In a e~Uular commuokaticns sy&tem. r>•llr 
loss between trarmniller •nd receiver is 
clue to 
a. scattering from buildings. trees. 

vehicles and oth~-r t tnrc.tures only 
b. I'Cn~on • t (D) nhov~ Md due to 

rcfloc.tion• from ground only 
c., reasons :tl (a) and (I>) above "long with 

1-eOection:tl from ionosphere only 
d. I'Cl!Sons M (a ). lb) and (c) •b<•v• 3long 

witl1 lo•s due lo owf'Ace wnv<: 
phenomenon 

!vlntch List I with li•t U :ond select th" 
correct an.~wcr : 
List I 
A S utf:I.CC W4& VC::!S 

18. 

19. 

20. 

B. Duel formotion 
C. lonosphe~ic prop:~gotiqn 
D. YLJ.' pmpa!J'1tiou 
List II 
I. Super refraction 
2. W """ guide modo 
3. Yortionl pubrizotion 
4. RoOection 

A ~ r 
:,, 3 2 
b. 3 
c. I 
d. 1 
Con.sidcc 
modu~ation: 

J 
3 fl 
3 2 

Uoc JbUowing 

I . '\mplihJrle modulation 
2 Pulse modulation 
3. Frequency modul3tion 
4. Phuse modulution 

lJ 
4 
2 
2 
4 

~ " ' 13 

types of 

'Vhicb of the uhovo murlubtion~ arc used 
for teleca.~ling TV pmgr:~mmc•? 
• · 3 and 4 
b. 2 and 3 
c., I und .2 
d. 1 and 4 
l\fntcb IL~t 1 with list 11 11nd ~elect lite 
cuo"'!ct ~uswer : 

List! (Functions) 
A, Height of rasTer 
B. Width Qf raster 
C. Picture CQotrast 
D. Picture brightnoss 
List II (TV circuits) 
1. Video ompliticr 
2 \lerticalampliJier 
3. Horizontolamplitlor 
4. d,c. bias on picture tub<: 

A 8 C 0 
a 2 3 I 4 
~ 1 ~ 2 3 
c. 2 4 I 3 
d. I ~ 2 4 
If the averoge power Qf racbr trnntmitter ;, 
2 kW and lhc peak power M th e 
trun;mitlcr •• 1000 kW • .viHot will be the 
duty cycle '! 
a. 0.002 
h. n.o2 
c. 0,0(\ 1 
d. 0,01 
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21 

22. 

23. 

u. 

25. 

26. 

II. t:Jdor receive' no echo fmm ~ ~;trget 20 
mitro seconJs after •ending the signal. 
l11c ~ppr(lxinmtc rnngcofthc tnriJet is 
n. ~00 m 
b. ~000 m 
o. 600 m 
cl. 6000 "' 
Dopper effect is employed in wlttch or l.be 
following'/ 
l . l\fo,1ns lllt-gct plotting on flpf 
2- n •• 1\.ffJ system 
3. FM rndar 
~ - CW rnd3r 
Select the correct OJmver usmg the codes 
given below: 
n+ 2.. 3 and 4 
b. J. 2 .lrtd 3 
c. 1. 2and4 
d. 1.3 and 4 
Match list I "itl1 list If .mil select lho 
c~urt:et answer: 
List! 
A. Pulsed rJJM •)'stem 
13. Moving IJltgCt l~dM 
C. C\V radar 

D. Ph11se •hiller 
List n 
I. Phased ~rray radar 

2. Doppl"" r.•dnr 
3. ?\fagnetrons nrc in lt.S" 

4. Scardt!ndar 

"· h. 
c. 
d. 

A 
-4 

·' 

B 
2 
I 
I 
i 

c 

4 
3 
4 

D 
1 
2 
2 

Wbidt of the following can b<: used to 
uuprovc range resolution ut a Rnd3r'l 
u. Shott duration 1>~•l•e 
b. Long durntion pulse 
<;. High fi-equency of operat.ing signal 
d. lncre~sing pube width 
Fadin~ is 
a. .:!lange b1 polllri:auioo only ol re<>ciwr 

end 
l:o. ch3nge In lh:clucnCJ' only nl receiver 

end 
<:. lluctuation In 5ignal strength at 

1'\i~lVt.:.'f 

d. change io plu .. o only at recoivcr end 
Consider the followmg: 

I. Sign F log 
2, /.ero Flag 
3 C'a•ry Flag 
4. Parity Rag 

,, "' jj 

Which of the above fla~s of MOSS g..t 
affccl<>d by Ute intttuotion S LfB 0 '1 
a. I and 2 
b. I and 3 
c, 3 ~tnd4 
d. I. 2. 3 ~n<l -1 

27. 11tc tX>rrt:el st:ttuoncl!. of subsy•tcm$ <>f 
1\:lyslt•on amplifier as lhoy nppoar in thu 
dire<:tion of flow of the electron benm is 
a. Buncher c-a\ity. Cathode, Collector, 

Catcher cavity 
b. Buncho:t· cavity. Cotl10dc. C• tchcr 

C!lvi~y. Coliccto•· 
c. C'11thqde, Buncl1er Cllv ity, C'ot~her 

cuvity, C'ol lecl(>r 
d. Cathode. Buncher cavity. Collector. 

Catcher cavity • 
28. Titc usc uf J cache iu u compUk"f .~ysklm 

lncrellSes tl»t~ 
~ . •v•il•ble memory sp•ce lor the 

program 
b. •vail~ble m ClllOI)' ~pnce for dato 
c. uverttg~ ~tl)CtXI c>f mc.."tnory th.'.t.!r!;H 

d. addrcssu>g range of CPU 
29. Con.•idcr the follow ing : 

I. Input device 
2 Arithmetic ~nd logic unit 
3. Control unit 
4. Alll<i liacy memory 
5. 111ain memory 
6. Active bub 
Which uf ll•e•e tom\ p.1t1 uf CPU 1 
a. I, ·l nnd 6 
b. 1. 3 ;md 6 
c. 2. 4 and 5 
d. 2. 3 and 5 

30. Which ono of tbe foUowlog is nol a 
chnrnclcris.tic ofRISC processor design'! 
u, One in5tt1Jdion per cydc 
b. Register· to ·register operotions !"'IY 
c. Simple address modes 
d. Rcgist~-r· to • memory operations only 

31. The followu1g micro operations are part of 
interrupt cycle of a control unit : 

L 1\o!AR •· ~uvc>uddres~ 
2. PC <- routine-address 
3. rviBR c (PC) 

www.studentsuvidha.in

Stu
de

nt
Suv

idh
a.

in

studentsuvidha.in/
studentsuvidha.in/


4. Mem<u)' • (MBR) 
Which of the followmg ts U1e ordored 
nrd<r or their occurrence'/ 
a. I. land 3 
b. 2.3 :.nd t 

c. 2. 1 and 3 
d. 3. 1 und 2 

n. Which of' the tollowin2 lf not ~ 
clmr:.clt:ristic of ttanspar<mti) MA mode of 
ItO upcrntivn? 
• · The C'Xtcm~l loaic Meals C\'ci"" from 

lhe CJl[j - · 

b The normal rate oJ C'lt'ecution ;., •lowed 
down 

c. Unly ooe word can be U1111sferred at • 
tim~ 

d. D::~ta is traJt.SfeJTed to'from mcnnory 
directly 

:n A 1ypic:cl ctll, fnr • (lynllmic RAM can be 
imt>lcmcntcd by llliiug h<JW m•n) MOS 
tron~i.tors? 

IL S ix 
b. Five 
c. One 
((, 'two 

34. ·nle llQlll"OL~ or 3C"UmU (aJ<)r in an ~08~ 
ntk,'Ojll'O"">'bOr at'c' altet..:d aller tlte 
ex.ecotion of the insu-uction? 
n, CMPC 
b. CPL~A 

c. ANIS(' 
d. ORAJ\ 

3 5. In /UJ H085 nucropro.:eswr afl~t· Uu! 
~xecution ofXRAA indructiou 
11, the carry tlag i~ •~t 

h. !he accumulatorcnntnuu I'Fn 
c. the content of accumulator is shifted 

by one 
d. lhe zero !las u set 

36. A microprocessor b>5 24 addt1.."Ss !j"'" and 
32 dnt• lines. U' il USe< l(l bits of op code. 
tlu: size of its Memory BuJI1:1· Register is 
"· 22 bill! 
b. 24 hill! 
c. 32 biL• 
d. 1<1 bit< 

37. fn the 8081) irt<lruction ADD OX. [BX] 
It ' I J. I he addn:$$lnl! mode of 8flW'C~ 
opor•nd iJ 
a,._ Rt1gistt.-r 
b. Rcgi•tcr Indu"eet 
c. Based Indexed 

5 " ' 15 
d. Oiivcl 

3~. TJ,;: MODEM is used with a personal 
computer to do whi~h oftl1e following? 
a. Convort fron1 serial lo paroU~I and vice 

VCf'.SJ 

b. Couvert sign•l• between TTL •d RS 
2.>2 C st>nd;n·d :md, vice vers1o 

c. Convert (rom digi1al to analNg s1gnal• 
and vi~ vem:t 

d4 To Convert the oornputcr to a long 
dist2nc.e communi~tion link 

39. 'l11e technOlogy tued for dii<plny in I'(' 

notte-buc1l.:s (laptop comptllcl~) is 
a. Light Eouitling Diodes display 
b. Uquid Crysl:ll displ~y 
c. CRT display 
d. Plasma display 

40. o·\ sserlron (Al : Operntionnl omrlifierS' 
~hould ha1'c o hi,gh s low r.11e lbr good 
ltan!ik1lt n:-sp£m<;jc, 
R~nson (R) : Sl0\1 rate is the mo.'\.imum 
rnle of change of 1l1a output voltngo of the 
opemtiona l amplifier when a large 
awplitud .. step is applied lo its inpuL 
o. Both A and R arc true and R il: !be 

c.orTCct e::'\-p lan..1tion of A 
h. Both A !llld R are tr11e. hnl R i' NOT 

the correct e"Cplon~ticm ol' A 
c, A is true but R is fabe 
d. A is fal•c but R is ll'ue 

4 I. .~crtion (A) : An opert~lional ompliikT 
should hav<>, a low i0pu1 nflset Cllrrent. 
Reason (R) : lnpnt impedance of op·amp 
should be very high. 
a. Both A and R arc true and R •• the 

<~uiTOCI o:splanotioo of A 
b. Both A ond R arc truo h11t R ill NOT 

tho correct C.'lll•nalion of A 
c, A is true but R IS false 
d . .'\is false butR is true 

-12 1\Sscnino (Al : An op~Tationn l nmpliJior 
can "mp.(~! very low rrcc,u<..·ncy including 
d.c. signol•. 
Re.1son i R) : op-amp uses very large. 
¢0upling tapacilor for tascatling tl11> 

vurious stages. 
a. Both A 1md R on: ln1c und R j,, the 

oorre<:t e~planntion crf A 
b. Both A and R are true hut R is NOT 

U1c correct "xvlanation of A 
c. A is tru~ bul R is f>lsc 
d. 1\ is fulse but R i• true 

www.studentsuvidha.in

Stu
de

nt
Suv

idh
a.

in

studentsuvidha.in/
studentsuvidha.in/


43. 

·15. 

46. 

-17. 

i\..-set1ion (A) ; Odd number of line$ per 
frame are used in all TV system<. 
Reason (R) : Odd number of lines per 
ft:.mc nssis1 inh:rlncing. 
"· Both A •nd R ore tnoc and R is tho 

~""cl explanation of A 
1>. 13mh A uno R are (Ttle bo1 R is NOT 

th,~ COIT.:ct ~xplonotion of A 
c. A is lw~ but R is false 
tl. A is false but R is true 
i\s11ertlon (i\) : To lll•lllin loigh switchitog 
'Pet<l in BJ'I ba;ed logic circuits, 
tnonsistors a"' hp«otod ln active region. 
Reason (R) : lu ~eliw rilgi01t ll'lUlsistor 
works a~ D linear c lomc:nl. 

n. Bolio A and R arc true and R is tlu~ 
correct e~'fllonoli<m ol' A 

b. B<1Uo A 31od R or<: !rue but fl. i• NOT 
U1e con·cct c.xplaruotlou of A 

c. A is !rue but R is faLic 
tl. i\ is t'o l• c but R i• true 
i\:uertion (i\) : Muter-slave JK flip-Oop i• 
preferred lo an edge·b·iggered J K ·flip -
Oop uo l~gh spee.l circuits. 
R.:asou {R) . Moster-& love JK illp-flop i• 
&co &om rocc -oround problem. 
a Bolh A and R are true und R i• i.he 

correct e:<:plonatiun or A 
1\ Both A and R are !rue but R is NO'J' 

lbc correct explon~~tion of A 
o. /\ is true but R i:s fals~ 
cl, A is fn,b<; hoot R is lnce 
ASJertion (A) • The bandwidth of a control 
system indicates the noise tilterin!) 
ch3raclorl<tic of the system. 
Reosoo (R) . 11to bandwidtl\ U. n nocasuro 
of :ohiljty ,,r :o ocmtml sy~tem IQ reprodnc~ 

tl•e input•ignal 
;o. BotlJ A and R al'e tnoe and R is the 

c.:ax:ct cxplluJJltion ol' A 
b. Both >\ ond R ore lrtoc but R is NOT 

lhe correct explonnlinn of A 
c. A is tnte bul R is fal~e 
d. A is false but R is true 

Assertion (A) G (.f) 
IO(s- lS) 

.r(•- 1)(<~ 5) 

ropre5c:.nhs :a non .. ollnimum phase h·unsfi;;r 
fimclic)TL 
Reason \R) • A minimum phase transfi:r 
function has tltt prup~tl,l' tltot itJ; 
magrutudc and ph"'c aro uniquely t•eloted. 

-19. 

so. 

51. 

6nl 13 
~. Both J\ und R ~re !rue ond R U. the 

c;,rrect explannlion of A 
b. Both A and R are u·ne but R is NO'I 

the COrtC<ll c.~plan4tion of A 
c, . \is true but R is fa Lie 
cl. A is f:olse but R i~ tnce 
Assertion (A) : Additoon of a pole lo the 
open loop lransler functoon of a ~)·stem 
iucl'enscs tl•e rise time of t!Je closed loop 
stop-response. 
Reason (R) : Additional polo has the efl'oct 
<lf redm.1ug the bandwid01 c•f ~"' •Y•Iem. 
a, llc>Uo A ;lnd R arc true Jmd R b; tile 

COtoe<:l ""'Jlllu"'liou of A 
b. Goth A and R ore trub but R is NUT 

the coned e.'<plaoation of A 
c. A Is true but R is false 
d. 1\ ~~ rolse but R is true 
As,;ertion (A) : 'rbe noise geneo·Med by n 
'"sistoo· depends opou its opcuting 
tempe:r:.tur~. 

Re>~t~n (R) · 1\verage no~'"- power 
gt:neratcd in a o"eSmtur is given hy Pn : kT 
M,whorc 

k Boltanann ·s constant, 
T : Temper-~ture in dew·"" Kelvin, 
.\f • Bondwidth of interosl 

:o. Both A and R on: lrue nnd R ~~ the 
c()m:cl c:.~p lanu\ion of A 

b. Bu~o A aud R are true but R is NOT 
the o:orr.x:l "xplunution of A 

e. ;\ is true but R is fal<c 
d. A i$ false but R i• true 
Assertion (A) : The demodulated output 
power spe.:ttal density is pardbolic. over 
the range I f I \V for FM where w 1s the 
sign• I bnnch' idth, 
Reason (Rl I'M dernoclulnti(IO is 
e..sentially a ditTcrc:ntration process. 
a. BoOt A and R :ore lnoe and R Is the 

corr.:cl ~::<:plnnotion of A 
b. Both A and R :ore !rue hut R is NUT 

th~correct explanation of A 
c. A is tru~ hut R L5 t':tlsc 
d. A is false but R is (Ttle 
A;,scrtion (A) : [f Ute luOex of ontldul•tion 
(mr) of on FM sognnl gmduolly increases 
beyond ().25, it will oontrihule to the 
generollon nf a progressively large,­
uumb<:r of side b:mds scpaJ·ated by ~~• 
modulation frequency (1;,1) , 
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52. 

53. 

54 

55. 

Rea•on (R) ; A IMge modul;uion inclcK 
will s.ener~le a finite nlnnber of side 
bAnds. 
n. Botb A ru~d R artt Lrue und R i; tllu 

correct explnnotion of A 
b Both A ond R are lme hut I{ is ('I()')' 

U1~ correct explanation of A 
c. A is true but R is false 
d . A is fo lse but R is true 
As.sl.rtion lA) : SSB trmtsmission ill nul 
appmJlrinte lor recrnnsulnr pul~e 

tr .. nsmi~sum, 
ReMOn (R) ; Wheoc:ver SSI3 mO<I\oiMing 
signnl h» ubruJit hau•itinus. tlic .tcutlliug 
en\ elope: •1\(1) gives l'lse to envd~,pc horns. 
n. Both A und R oro true nnd R i< the 

correct explanation of A 
b. Both A nml R nrc true but R is NO'!' 

the correel c.xplanutiwo ul' A 
c. A is true but R is false 
d. A is fa lie but R i• true 
~·~'-rtion (A) : GaAs is pr>!fem:llto silicon 
tbrf•bricati<m <1fGunn di(ode. 
Re:osou (R) : GaA' b<~& boll<:!' frequency 
stJJbility tl1an •iliwn. 
n. Bo!h A ond I{ ""' true nod R "' !he 

con..,ct explnnation of A 
b. Both A and R ore true but R i.< NOT 

tbe ~o,..,._1 explaowtiuu ~r A 
c. A is tn1c bul R is fa lie 
d. A is folse but R is true 
A~••11ion (1\) : In .o Heli.~ TWTA, "n 
artenu•tl)r iJ; used. 
Reason (R) l'he allenualor helps J'I'O)ler 

bunching of ele"trons in tbe TW'J'. 
.it. Oc.Jth A ~ud R rttc lr'Uc and R i.-. U1c 

com:creKplon~t ion elf A 
to Roth A tmd R ~re trUe but R os NOT 

the cntreel. expl>natiun uf A 
c:. A;, true but R is fal$e 
d. A is f•l!e but R is tr11e 
Assertion (A) ' TE111 mode is the dominant 
mqde ma rootangular wave g-u idej 
Reason (R) · I Ew mode has the lowe!;t 
cut·uff frequency for lvhicb U1o 
wavcJ,mgth is doubl.t: tJtc broadwnU 
dimension . 
;o. Rmh 1\ >net R nre \noe :.ood R i< lhe 

con't:c! cxpl~n•tic.m CJI' A 
b. 13otb A and R ""' true but R i• N01' 

lh~ correct e-xplanation of A 
c. A is lme but R is f•l~e 

56, 

57. 

58. 

59. 

60. 

7 of 13 
d. .\ i.• false bul R is true 
Assertion (A) : Masers and Ins""' ore 
su ilable foo· rndio oslronon1y and other 
<:X1ta-t~strial conunuru~tions. 

Reason (R) : 'floasc d~'Vicc• aro lti!,~1ly 
dir~ctional"" coherent power device.-. wilh 
e:-.'1J·emely low noise figure, 
a. Both A and R •re trw and R os the 

com:ct cxplan:otion (If A 
b. Botlo A ond R :tre Lnle but R is NOT 

the correct e."Xpla1):stion of A 
c. A i• true bm R is 1:, l•e 
II. A i~ fol$c hul R is true 
An rMPAT1' tliocl.: h;l.$ a dritl l~11gt11 uf 
4fWL Tio~ drill velocity of Si i• lOS ru's. 
Tite oporuling frequency of !he lMPA l'T 
diode is 

"· 25 GH~ 
b. 20GH~ 
e. 125 GHz 
ci 125 Gllz 
l':.L:olc:h List I (Microwaw II (lnlci'Jclion 
device) with List proce~s involved\ and 
:;elect the cotl'ect "nswer; 
List I 
,\. R•<Oc~ K I)•Sil'OII 

B. Gyrotron 
C. BQckw~rd \1 aw u•~iii•Wr 
0. Pixe<l-lrequency 
!.'.. magnelron 
l. J,lsl II 
2 srirolling beam 
3. Velocity modulation with lJ'3VQUitljl 

W3-ve structure 

4. Velucity mQclu l:uicm with rtsrm•nt . 
c:oviti.:s l'r"•~"d field 

A B C 0 
a. ~ 2 l 3 
b. 3 2 4 

c. .. 1 2 3 
d. 3 2 1 4 
For us1ns •s o lo~J osclllaior for 
Jreque;ncy mcasun;mcnl•. the most s11ilnblc 
micwwnvc soun:c \\uu1tl he-
a. Trnvc::lling wnv.: tube 
b. Double c:ovity klystron 
c. Refle~ kly~trnn 
d. Magnetron 
l:lectromagnelio o~cillntlons are sustained 
in • two....,.vlly k:~·lslron du~ to 
a, fecdbac~ of outtlut pow•,. to lb<: input 

c:wity in proper phMe 
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62 

63. 

b. feedback of olllput pol<·er to the inpm 
C.1\~ty wiUt phasediJferen~e of ISO" 

c. feedback of pow.:r [I'Om extem.3l lo~d 

to input cavity in proper phase 
d. H:cdb•c'- of power Jrotn lltccn•l noi•• 

oflood circuit w ith pltose bg e~f9()9 
A Cl:rL'lin optic:d fibre has retroctive intlex 
<1f cJad tnll = 1.4() bt and th>t of core (n,) 
- 1.05, ll~ numericol11pcrtu!ll will be 
:L 0.8575 
b. 0.9260 
c. 0.3500 
d. 0,1585 
~l•tch list I (<"t!(.'Uit numo) with list n (S­
pammctcr) and ~olcot tb~ corr.,ct att6WOf : 

List! 
A. C irculntor (3·port) 
B. Dir~tiona I Coupler 
r . Magie Tee 
0 . Rate Race Junction 
I ist II 

I. so" u s u 

[

0 s., 0 

s, 0 s., 
s,,, 0 s,, 0 

2. 

() 

s,l 
s, 
s~, 

3. r;: 
s\, 

4. 

11. 

b. 
c. 

"· 

() 

,\ 

I 

s u 

0 s, s .. 
() s .. 

0 

s, 
0 

0 

0 

11./2 
- 1 ..fi 

j) 

2 

•I 
4 
2 

l t .fi 

lt .fi 

0 

c 
4 
2 
2 
4 

1./2 
- l'.fi 

0 

D 
3 
I 
3 

0 

A rect.1ugulnr w:we guille measure 3 · 4 ... 5 
cnt int<:~·n• lly and ha> • 9 Gllz •ignol 
propag0ted in iL 11te cut off wawlcngtJt 
for TBto mode i• 

'" Scm 

64. 

65. 

06. 

n7. 

68. 

8<lt 13 

b. IOcm 
c. t5= 
d. 9 Clll 

Which uf tho followin& is not possible in n 
circ.u1ur "nvc gu_ide7 
a. TEtu 
b. TEut 
c. TEu 
d. 'f'F.., 
ln generaL the t-ellection coefficient on 3 

ln'lnsmission lio~ dcl""'ds 
u. only u1>011 the distance from the source 

and ancnuation ofthe line 
b. only upon t.he level of voltage 

impressed upon the li11e. and lood 
inqx:donce 

c:, unl) upon the levol of pOWO! flowing 
in the line and attenuation in the line 

d. upon t.ho di~tance fr<~m th<: sotm:e, 
~Ucnuolion in the line oud ~lso UJ)()Il 

lit~ loud itnpedance 
Comidcr Ute following fualurcs : 
1. Wide,. bandwidth due lo higher 

frequencie. . 
2. Sma ller component size lead ing to 

smaller sysloms. 
3. £xis tend> of low signal losses. 
4. Lower interfo:t-.'1\~e due to lower oign~l 

Of()Wding. 
Use of RFtmicrowaves in system 
applic.tion results in which of Utc;;e 
advantag-es'/ 
a, I , 2 and •I 
b. l, h nd4 
c. 2, ~and .J 
d. I. 2 and 3 
lo a VSWR measurement., 3 square low 
d~1cclor i> used to detect the signnl level , 
'llte voltmeter rent~• maximiiTn nnd 
mlmrnnm 3S ()4 mV and 16 m\' 
t'Csp~clivel~. ll'oc VSWR of tloc systcm 
will be 
• . 4 
b. 2 
c. 8 
d. Ill 
Resistive .l'ibns in MlC's arc nc<:dcd lu 
fabricate rusislol'lJ uud ollcnuatiJrs. lloc 
feator<< d~irable in ,..,,~tive iilm• are 
a. low·remperattln> 

r<Sistane<>( !'Cit) 
b. lower luss 

coeft1cient of 
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c, good ''(lhesion to Ule substrate 
d. good etchabilityand solderabilitv 

69. Tl1e type of antenna tu be us~d for 
producing circularly polarized beams is 
a. pymm.idal hom 
b. log-periodic an-ay 
c. paraho.loid 
d. helical antenna 

70. Ill a material clwacterized by a t'Otuplex 
pennittivity, the imaginary part is • 
me-J~liie of 
a. dielectnc $1rength <)[the material 
IJ. energy stored in the electric field 
c. losses iJJ Ute nm~J<rinl 
cL energy stoTes in the magnetic .field 

11, Consider tlte fOllowing statements 
t'or ;-pace communications, ille canier 
frequencies me geneJ:<lily greater tlmn 108 
MEz,. because it is desirable 
1. to avoid illt(llfarence dne to FM band. 
2. t..1 11enetrate l:he ionosphere wi lhout any 

retlection 
3. to increase the coverage area. 
4. to have less skip distance. 
Wltich of the above statements are correci? 
a. 1,2anp3 
b. I and 4 
c. 2 and '1 
d. J, 2,3and4 

72. ln signed m•lgll.il11cle rep~eutatiou. lite 
binary equivalent of 22:.5625 is (the bit 
before comma represents ltte sign) 
a. 0, l0JI0.1011 
b. 0, 10 11 0.100 1 
c, 1, 10 101.1001 
d. i , l 0110. l001 

73. Which of the following repre$enls •t:J16'? 
a, (JCE)1~ + (A2)1~ 
b. (lBC) 16 - (DE),. 
c. (2RC)to (I Dti),6 
d. (200)10-(JlD),. 

7•~. ·The ''Omputer prognurt wllich cruJVen:s 
~tal.erneuls writk'll i.tt lug}1 lev!!l langllll!!e 
to object code is knowtt as 
a, Assembler 
b. Compiler 
c Di•assembler 
iL Operating system 

75. 

9ofl5 

What w\11 be values .,r A and B 
. ' re;1)ecbvely, w·hen rnnted for I he given 

flow chart? 
a. l Oand 20 
b. 5 ;md 15 
c. 20 and 10 
d. 1.5 811d 5 

76, Con.;tler U1e folloWirtg C strnoture and 
declaraoon: 
S truct date ( 
intday; 
int month; 
intyear; 
~ ~ 

Stroct dnta * pd; 
Wlriolt of 11te foDowing is tt1e oorrc..'t 
method to refer to the yeru• number? 
a. (* pd) , year 
b. (* pd) *year 
c. (* pd) }'ear 
d. pd~year 

77_ 'Mte cli.ff'ereni classes of fcrrnlll par:lrt1efers 
us~! in PASCAL :rre 
a. value and variable _parameters 
b. procedtu·e and functiott parameters 
c. value, \"mitli>le, procedure anti li.t.nction 

pnrnmeter$ 
d. variable, procedure and function 

pa!'J.metcrs 

78. Which one of the foll owing is not a linenr 
data structured 
a. Array 
b. Linked Jj~t 
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79. 

80. 

82. 

83. 

84. 

c. Stack 
d. Tree 
A d>ttll strucwre in wl~ch inserti''"" and 
deletions are pos$ible al either end, is 
called n 
a. queue 
b. deque 
c. stack 
d. enque 
A circuit wldclt resonams a! J MITz ltas a 
Q of 100. l:l:utdwidlh ~e1Wet>Ji ltalf-power 
points is 
a. IOkH1.. 
b. lOOkHz. 
c. 10Hz 
d. JOOHz 
[n » circuit, if the OJ>C!t loop gain is J o• and 
output voltage is 10 voJL 1he diftereulial 
voltage should. he 

a. IOJJV 
b. 0. 1 fiV 
c. lOOJ,N 
d. 1 ,uV 
Ail operati()Tl.alll11tplifier jJOSSesse!! 

a. VllJY large inpuJ resistance all(! very 
large oulj>ut resistlutce 

b. very large mpu.t re>istartce mtd very 
small otJ4>uJ re!iistance 

c. very small input resJst9Jlcc and V<'fY 
small ou\])ut r!1>-utance 

d. very small input resistance 911d v"'J' 
large output resistance 

A BIT' is to be used in a lliglt frequ!3ncy 
circuit in comnt<lll e:milt.er wnplifier for a 
lligher upper CUI - off fi:equeucy (c., . C, 
and ro have ~teir usual Itt eanings) 
a. c., should be as small as .JX>Ssiblc 
b. ro and Cu shm~ d be ~s la1ge asvossfble. 
c, C. and ('" should be as large- as 

possible 
iL ru, C • ru1d C~ sltollld !}e as large as 

possible 
Consider the follo\l~ng •lntement;; 
re~arding a counnon oolitter amplifier. It 
can be ronverted iJJto an "~cillnwr by : 
I , providhtg ad.equate posilive feedback 
2. phase sluffing lhe ouiJJul by !SO' and 

feeding this phase-sltillod output to lite 
ill]ltl~ 

3. wmg only a series Inned circuit a~ a 
load on tlte amplifier 

85. 

86. 

\0 of 15 
4. using a negative resistance devic~ as a 

lood on the amplifier 
Wlticl1 of tlw above statements at~ correct'! 
a. 1, 2, 3and4 
b. I and 2 
c. J, 3 and 4 
d. 3 and 4 
Consider l:lte following stat~ments : 
lrt urder to generate square wave from u 
sinusoidal input signal one Ctl:ll use 
1 Schmit! trigger circutl 
2. Clippers "nd >l.fTipliJien;. 
3. M\ln'Ostable mulliv:ibrators. 
Wlliclt of ihe above statements isfate 
correct? 
a, I alone 
b. J and 2 
c. 2and3 
d. l, 2 and 3 
An op-amp circuit is shown in the figure 
given below. Different inputs !Uid outj)ut 
are giYert ui1der List I and List ll. Match 
List I (Inputs) witlt List TI (Ou\])ut~) and 
select tlte correct answer: 

List t 
A. 

IIlii It 

v.j:-­
~ 
B. 

0 ·1 ljooc) 

c 

D. 

-
J, 
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S?. 

88. 

89. 

+!BY . . 2 

0 1 
- 10.--

~ 

I v 6(1) 

0 

3. 

~:JJ' fl 
4 

-hrv: t 
Ill .. -

A B c D 
a 2 4 3 
h I 3 2 .t 
c. 2 3 I 4 
d. I 4 2 3 
The PlV rating of the diC><Ies used i11 ptlwer 
supply circuits arc chosen by which oue ot' 
01e followmg criteria'/ (V,. is the peak 
mput supply volr~e to the recti tier circuit 
used on the po\\cr supply) 
a l he diodes that are to be used m a lull 

wave rectifier should be rare 1 v., and 
in bridg~ recrilier equallo v,. 

b. The diodes that are to be used in a full 
wave rectifier should be rated V., and 
in bridge rccrificr equnl ro 2 V., 

c. All mode> •hould be mr~d for V, only 
d. All diodes should be rated tb r 2 v., 
An RC amplifier srage has a bandwidth of 
500 k.llz. What will be tho rise time of ~lis 
a•npli ficr stage 7 
a. 0.35 ~Ls 
b. 0.7 J1S 

c. l ,() J1S 
d 2,0 ~~~ 

.un ~hey· c, .. 
. . .:· 

90. 

Ql 

l lofl5 
I 11 th~ circuit sholl"l abo\ c. I r R 1 >> R" 
:md the impu\St'S a m complete!) smurated 
transistor Q1• thon the <)utput vultage, V., 
will be 
n. 

b, 

c. 

JLJ1 
d. 

The p(lwer tnput to an aruplilier is 2 (.lW. 
Th~ power gain of the umplilicr is 40 dB. 
The Olllptll ll(IIWr of 1h~ lmlplltier is. 
Q. go,..w 
b. 200 (.lW 
c. 10 mW 
d. 8() mW 
G ivcn below lire 2 SClS of uiagrd111 - one 
set shows 4 corcuus wtth inputs; the other 
sh(IWS the output 1 V~). Match List I w<th 
List II nnd select U1c correct answer : 
List I (I nputs! 
A. 

··P. 
• • 1,. 

•• .. 
1 v, \' . CT • 

, .. .-
B. 

· ~ • • • ··b. v, . • '· 
~· I - -

c:. 

D . 
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!l2. 

93. 

. -
f--· ~~ ... ~~-. 

Ltstll (Outputs) 
I 

v --;..------v 
2 ... ~-- . . .. . . . - , .... .. 
3. 

x--" Pie1 

o-:nv 

./ .... 
-a-wv ·:" • 

4. 
. 

\ ' 

"" , ... 
A 13 c D 

II.. I J 2 4 
h. 2 3 I -1 
~. I -1 2 .1 
d. 1 4 I 3 
A cla.~s-B push-pull type umplifier wid• 
transformer coupled load uses two 
transisto1:s ralod 10 W each, Wlrul Is the 
lti:L~iomm power oo tptH one= obtain at 
the loud from Otis circuit? 

u. 40W 
b. 50W 
C, OOW 
d. 70W 
In tho circuit shown, 

94. 

40K 

the tmosistor is biosoo ot 
u. o rnA 
b. 5mA 
c 3.9 mA 

d. "" 

l2 oJ. 15 

10 vola 

2.5K 

S I T,.rulstor 
8 - I~ 
vn ~ 0.7volts 

'11te <llllllUl V0 "ill bo (:.%orne tdeul <>p­
aulp) 
a. equolto zero because the input tl zero 
b. dependent 011 clcmCill ••alues hence 

nothing cao be pl'l'dicted withou t u 
ktto•vledge of element values 

c. ;J squnre \WVc varying bctw~cn I V tt 
aocl - v .. ~ 

d. o sinusoidal wuvcof u!llplilicr V,. 
95. An amplifier will generate stable 

~inusoldnl osci llations if we provtde 
feedback such that 

% . 

a. it·s pole lie close to)"'' a.XJS in 01e rii;!bl 
hal.f of s-plaoo 

b. its poles lie close to jo>· o.'\is in dtc loll 
buiJ or ~-plune 

c it• pol<lS lie tm Lhe rvc rca.l oxis in J;-

pl1lne 
d. its poles lie <mywbere in s-pltllle 
A noo·inYcning op-omp is shown below 
(assutlte id~1l op-omp) 

r-_...,.WY--, 
' 211 

R r:----...... + II + - 2V J" R -
. V, • IZ+oiaUOOOJV 

The outp\11 VQIIagc Vo for on input V, ~ 12 
1 sin (lOOt)] Vis 
o. 3/2 sin C lOO I) 
b. 3 sin ( 100 I) 
c. 2siu(J00t) 
d. 3sin( IOOIJ 1 Ir2 

v. 
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97 

98. 

The open collector oUl{lUl uf two 2-input 
NAND gale$ nrc councctcd to a common 
pull-lip resistor. Lr tbc inputs or the gates 
w·c A, B :md C, D respectively_ the oLUpul 
is equal tv 

a. A.B.CD 
b . . t.B +C.D 
c. A IJ ,. C./J 
c.l. A.B . C.D 
Consider (he iollowing digi tal circuits: 
I. Multiplexers 
2 Read Ou ly Memoric:s 
3. D -lnlch 
-L Circuil as shown ..,. 

Wb)cb of lbcse come uutler lhe clus; .. r 
combcnntional circuits? 
a. I nnd 2 
b. 3 aud -1 

..... l, 2und 3 
d. l.2.3and4 

W. With -1 Boolean variables, how man~· 
B<•olean expressions ca11 be lo rmcd 'I 
a, 16 
b. 256 
c. 1024( 1K) 
d. 64 K(64 • 1024) 

100. Molch list T with list II nnd <elect tho 
corrcct unswe:r: 
L1sl I {L0£10 gales) 
A rn. 
n ECI 
C. IJ TL 
D. CMOS 
1 1st II (Opcrurion) 
1 More log.ical s11 ing 
2. Low powor dissi~J~~tiou 
3. Curreol hog!!ing 
-1. NOR I OR output 
5. Totem-polo ~utput 

A B C 
•. 3 2 5 
b. 
c. 
d 

3 
2 
2 

2 
3 
3 

D 
I 
5 
5 
I 

13 uf 15 
10 I. llo\\ is inversion achicvet.l using EX - OR 

gale? 
a. Giving input signal to lhe two inpul 

l ines of the gate litd together 
b. Giving inpmto on~ inrut llne and lt>gio. 

zero 1n the Nhet line 
c. Giving Input to one inpul lin~ and iogio 

one to lh<> other line 
d. lln•ersion cannot be ncltieved using 

EX- OR gate 
I 02. Match list I wilh list II und select the 

correct answer 

103. 

Listl ( Lqgic type) 
A. DTL 
B. ITL 
C. ECL 
D. MOS 
Li>t 11 (P<mcr dissi~J~~lilm per gal~ in ruW) 
I. 55 
2. 10 
3. 8 

~ - I 
5. 40 

1\ B c D 
a. 3 5 4 2 
b. 1 2 5 4 
c. 3 2 5 ~ 

d. 5 4 2 

-· _ .. 
Fig11ro I. Jl und Ill sllUII iii O~n!nl foces of 
a dice. Tbe >ywbol al tho bottom of fi~ure 
fll is 
a. pl u~ 
b. dot 
e. wave 
d. squurc 
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104 Consider the following circuits (Assume 
all gates to hnvc a linit" propagativn 
delay): 

LOS, 

l06 

I. 

2. 

l-
·'· 
~I +D Y. 

. J..-
-1. 

lO ~ [:::c: ><- --::.:-· v. ± ~-
Whic.b of these circuits generate a pcnadic 
8'.fWlre wtwe outpur? 
a, I and 2 
b 3 und~ 
c. 2. 3 ond 4 
d. I , 2. Jand -1 

NJ -
a> '00 01 ll 10 

00 0 0 1 I 

01 0 X X I 

II • .. I .. 
10 I 0 l 1 

rbe mioll.tnized e'pressiou for tho giv.:u K 
map (x :don't care) is 

e. i\ - B C 
b. B+ AC 
c, c + 1\B 
d. A fl C 
Consider the Boolcao expre~sion : 

X l- ABCD- i\ BCD - X BCD - i\ CB D 
The si mpl i·ficd fonn of X ts 

:~.C - D 
b. BC 
c. CD 

1-! o! 15 
d. BC 

107 Which of tho follo"ing is a sdf­
complemeuting cod~? 
o. 8421 code 
b. F.xccs~ 3 oodc 
e, PurfJ bmal'y code 
d. Ora) code 

lOR Match Lost I with List II u.nd select tltd 

comx;l answer. 

109. 

11 0 

I l l 

List I 
A. TTL 
B. ECL 
C. MOS 
D. CMUS 
Llst Jl 
1 tow propagation d~lay 
2. Low power consumption 
3. Higher pac~ing dcn~i~· <)II Si wafer 
-1. Sntumted bipolar logtc 
5. 11igh fnn-out 

A ll C D 
:\. 

b. 

"'· d. 

4 
5 
4 
5 

J 
3 
I 

_; 
2 
2 
3 

1 
1 
1 
2 

A sequence ddc:.ct'or is n.."""quin:d 1o t;ivc a 
lllgical output of I whene,•er Ute sequonc.. 
10 II Is dotcct¢d in lloe incoming puts.: 
stremu. Minimum number of llir>-Jlops 
needed to build the sc:quence delt;Cior is 
a. -1 
b. 3 
c. 2 
d. 
i\ number is ~~press.!d in 
complement as 1001 L 
.::qui valent volue i~ 
• . 19 
b. 13 
c. - 19 
d. - 13 

binary IIH>-s 
fls decimal 

Cousidcr the lnllcming r~gist~t·s 

I. AccumulRlor and B register 
'2. B and C regi~tcrs 
3. D and E resisters 
4. H und L r~gisr.ri< 

Which of thcs;o 8·bit IX!giSl.crs of 8085 jiP 
cnu be p:Urod ttigether to make a 16-bit 
rt.1gls1er? 
a. I , 3 and~ 
b. 2. 3 ond ~ 
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c. J and 2 
d. 1,2and3 

112. Coru;ider IJae following ua.~tructions ~,>f 

8085 f'P; 

113. 

11 4. 

115. 

116. 

l. MOV M,A 
2. AODC 
~ . MVI A, FF 
4. CMPM 
Which ofthese cause change in the srntus 
qfflag(s)? 
a. 1 Md 2 
b. J, 2 and 3 
c. 3 and 4 
d. 2 mad 4 
A Read/Write memory chip has a cnpa..--ity 
of 64 kSytes AssumiJ•$ sepanote data and 
address lines and availability of <>hip 
enable ,;gnal, what is lh~ arnnilll1nr1 
mmober of pins req,;UrecL in the IC chip? 
a. 28 
b. 26 
c. 24 
d. 22 
C<msider the follo~<~ng single-loop 
feedbllck structure iUtu:lr<!ling lhe return 
difference . 

~· - ;..~r.P~ :>- '• ~ 
- # 

'fhe rel,ltm di f1''erence for A is 
a. I •1/J 
b. 1 +A p 
~ c. 
l+AP 

A/3 d. 
l-A{J 

Consider the following amplifier widt -ve 
f~edbaok: 

U .. D .. · ::Ja, 

v. . 

. 8[ 

If l.he clf;lseci-l<:>op g>lin of the above 
amplifier is • 100, Oae value B will b~ 
a. -9 >< w-> 
b, ' 9 X }Q-3 

c. - ll ,; 10' 3 

(l + U X 10'1 

JJ.8. 

J 19. 

1'20. 

15 c>f 15 

I • 
r' 

~~--~~-------· 
'• 

•• 

Which of the following is the open loop 
iransfer f,mction ,,r lhe rwl loci shown +n 
figure ? 

K a. 
s(s 1 T,)' 

K 
b. 

(s + T,)(s+ T, f 

c. 
K 

(s t· T)' 

K 
<L 

s'(s1j + I) 

The tnslnQnent used for plotting the root 
locus is called 
a. Slide rule 
b. Spirnle 
c. Synchro 
d. SeiS')'ll 
A oontrol system has 

G(.<)H(s) K(s+l) 
s(s 4 3)(s 1 4) 

Root locus of the system can lie on the real 
axis 
a. between s =- 1 and s =-3 
b. between s = 0 ru1d s = - 4 
c. betweens =- 38Jlds=- 4 
d. toiVards left of s = - 4 
A system has a $ingle pole at origin. Its 
impulse response will be 
a. constant 
b. ramp 
c. decaying exponential 
d. oscillatory 
The mechanical system •hown below has 
its pole(s) at: 

. . . J' 

a, -KID 
b. - D/K 
c. -DK 
d. 0,-KID 
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